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Run 4608 quartetwise, Asyms0 (Raw): All
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Run 4608 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

P ———
E Enlries Bh417T
80000 ;_ :II:IEEIIE'.I E.EEE_EE-:D152
70000 =
60000 =
50000
46000 =
30000 —
20000
10000
O T e S o O popne- i

HelNSamples0}/|FosHelAcel/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 23.288067)

180

160

140

120

100

B0

60

40

20

0

Run 4608 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4608 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 4608 quartetwise, Diffs0: All

Run 4608 quartetwise, Diffs0: Beam OFF
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Run 4608 quartetwise, Diffs0: Beam ON, Laser OFF

guartetwise diff0
9000 == Enties 163848

— Mean 0.08977 180
8000 — Std Dev 0.2509
2000 — 160

= 140
§000 —

— 120
5000

= 100
4000 —

= 80
3000 —

— 60
2000 = 40
1000 :— 20

— | | | 1 1 | 1 | 1 1

0 = 05 0 05 1 15 5)
PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso
Run 4608 quartetwise, Diffs0: Beam ON, Laser ON
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Run 4608 quartetwise, NegHelAccO/NSamplesQ: All
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Run 4608 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
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Run 4608 quartetwise, NegHelAcc0/NSamples(: Beam OFF
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Run 4608 quartetwise, NegHselAccl/NSamples: Beam ON, Laser OFF
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Run 4608 quartetwise, PosHelAccO/NSamplesC: All
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Run 4608 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 4608 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4608 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 4608 quartetwise, Sums0: All
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Run 4608 quartetwise, Sums0: Beam ON, Laser ON
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Run 4608 quartetwise, Sums0: Beam OFF
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Run 4608 quartetwise, Sums(: Beam ON, Laser OFF
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